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BEERNGEE (X28£1H1H) 60,000
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80,000
70,000
150,000
30,000
65,000
3,750
30,000
35,000
31,000
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D :

HERH REFH

EER $12,000  $28,000

EEE R 50,000 —

KEH 28,000 52,000

T B4R B 3 K — 70,000

% & 6,000 24,000

HEER 3,750 —

frig & 12,000 18,000

& G $111,750  $192,000
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HERH $190,000

HEAL 150,000

Bk E R 192,000

HLB 3 R $532,000

e EHEFE—LALH 65,000

o EHBHFE 12 A 31 H (35,000
B AR $562,000

e EHREFE—1LALH 48,000

WAEREEYE 12 31 H (31,000)
8B R $579,000
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5B N $ 723,750

HERA (579,000)

B8 EF $ 144,750

HEEH (111,750)
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2R T EREAIR TR M 23 -

3. FERALLINT B AZ $70,000 o

4. 8LEFE MR $80,000 -
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6. A B RGN AKA (cost of goods manufactured) A $370,000 -
7. KBHERA (cost of goodssold) A $390,000 -
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HERA $150,000
HEATL 150,000
AEHHA 80,000
S oW $380,000
mrERHEFE—4HA1H 50,000
o EHBEFE—4 A 30H (60,000)

Bk AR $370,000
mrEHEEFE—4HA1H 40,000
BB EmFRE—4 A 30H (20,000)

8 & A $390,000
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B & $ 200,000 &fF :

FEUIRER 400,000 FEIIRER $ 900,000
[ S 100,000 FERTFETERL 100,000
ERE 200,000 RH&®E 240,000
S m 120,000

TN IRIRE 20,000

+ 120,000

o=t 1,600,000 #E# :

M ERER IR 1,200,000 ELiEAEA $ 920,000
B BEt#rE (600,000) (REBEER 1,200,000
BEBRE $3,360,000 E&fENEmALER $3,360,000

X4F 1 BHBEBRZAT

OFREEEAL $100,000 -

@4ERAEE  EEEEE $40,000 - RBE#EEEE $20,000 o

@ E4a%E $200,000 (HHEAT 50% » EEEAT 25% @ 1T & 15%
 BIEFE 10%) -

@RIEER : MEITE $8,000 - HERRAEITE $10,000 - FATHAZRME
RREBEFEAELS $4,000 -

OREZMEMER $12,000

®Y[E)= F R $300,000 -

OIREFTEMIETR $240,000 5 $7& $200,000 °
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%L $600,000 » E 1 50%4HR5H -
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AH: 1.0 FE H 100,000
JEAT 1R 3K 100,000

2 ‘" 40,000

" F A 20,000
BH 60,000

? ‘" 100,000

TR 50,000

T80 % H 30,000

THE A 20,000
JEAT % & 200,000

@ HEFHA 22,000
AT E 18,000
TR & 4,000

G HEFHA 12,000
¥ % 12,000

® H % 300,000
JE MR K 300,000

7 JEAEE 240,000

JEAT % & 200,000
eI > 440,000

@ FEEG 104,000
" F A 104,000

9 B 400,000
T H 400,000

o H 4 300,000

JE MR K 300,000
- N 600,000
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A H B R 100,000
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o R Z MR $ 20,000
#ARFH (U31) 140,000 (160,000)
HRAzABERA $ 40,000
HEATL 100,000
WEHR
i B A $ 20,000
Ml AT 50,000
I & 18,000
Rig & 4,000
B B EE AR 12,000 104,000
ML R $ 244,000
o EBEBFE (V1) 200,000
BoERGHFR (131) (44,000)
B AR $ 400,000
s "k r g (V1) 120,000
o] B SH B AR S R $ 520,000
o Bmamr e (131) (160,000)

B A $ 360,000



